7N ERRRE G ARAE

L EIIRET

miB. WE. BFE. RS

JFH.

JFHS - sty

S B AL D]
JFH -M3 —-6-Z1
T
2 MR g KB ORME
LU v AV T A S
WAL, AR R R AL
HRET KA BEER WRET AR R TR
JFH HMBLL, At 6g, HEf] 2A % M fE4k. B85S | AT HRB8O B HB150
JFHS MRS, At 6g, JE] 2A 300 RFINEEN BifbAb¥ | A% T HRB70 BX HB125
AR CRfr: 2K m)

MRET KA BRLL KERG “L” +£0.4 H S
B | A | S (K ARG AZ R A BALD +0.4 | &K
JFH | JFHS | M2.5 | 6 8 10 12 15 18 - - - - 4.1 1.95
JFH | JFHS M3 6 8 10 12 15 18 20 25 - - 4.6 2.1
JFH | JFHS | M3.5 | 6 8 10 12 15 18 20 25 30 - 5.3 2.25
JFH | JFHS M4 6 8 10 12 15 18 20 25 30 35 5.9 2.4
JFH | JFHS M5 - 8 10 12 15 18 20 25 30 35 6.5 2.7
JFH | JFHS M6 - - 10 12 15 18 20 25 30 35 8.2 3.0
JFH | JFHS M8 - - NA 12 15 18 20 25 30 35 9.6 3.7
P R~F (BhL: &) in)

; KEMRIG “L” £.015

SReTRa ﬁ% (K BEIRTB LI 1/16 3E~F R 240 +%us é}
W | AN .250 | .312 | .375 | .500 | .625 | .750 | .875 | 1.000 | 1.250 | 1.500 | —°
JFH | JFHS | 256 4 5 6 8 10 12 - - - - .144 | .075
JFH | JFHS | 440 4 5 6 8 10 12 14 16 20 - .176 | .085
JFH | JFHS | 632 4 5 6 8 10 12 14 16 20 24 .206 | .090
JFH | JFHS | 832 4 5 6 8 10 12 14 16 20 24 .237 | .090
JFH | JFHS | 032 - 5 6 8 10 12 14 16 20 24 .256 | .100
JFH | JFHS | 0420 | - - 6 8 10 12 14 16 20 24 .337 | .135
JFH | JFHS | 0518 | - - - 8 10 12 14 16 20 24 .376 | .160

H: - BT

LR ERI RS (BAL: K~ in)

/N 223 % /N /N 223 % /N

monk | g | R | oo | noe momk | s | e | v | Ao

M2.5 x 0.45 | M2.5 1 2.5 5.4 24#-56 256 . 400 . 085 . 187
M3 x 0.5 M3 1 3 5.6 4#-40 440 . 400 111 .219

M3.5 x 0.6 | M3.5 1 3.5 6. 4 6432 632 . 400 .137 . 250
M4 x 0.7 M4 1 4 7.2 8#-32 832 . 400 .163 . 281

M5 x 0.8 M5 1 5 7.2 104-32 032 . 400 .189 . 281

M6 x 1.0 M6 1.6 6 7.9 1/4-20. 0420 . 062 . 249 .312

M8 x 1.25 M8 2.4 8 9.6 5/16-18. 0518 . 093 .311 .375

FYERRZE . 13914003355 (FHeA)
BE5R%: 13511601078 (F4a4)

AR H: 13914002255 (Bhsed)

A M www.szjdph.com



7N ERRRE G ARAE

L EIIRET

miB. WE. BFE. RS

S H-JFH. JFHS Pk EGMIE4T

WAL | BRREROKHIGE | W4T TR REMREE 2SN Eiidiupal HH A AW
ARRE N.m it JEBE R IR HRB KN N N.m N
0.78 TFH 1. 6mm 45 29 8.9 465 1 2600
2.5 0. 84 1. 5mm 48 59 11.1 740 1 2800
. 0. 48 JFHS 1. 6mm 45 29 11.6 465 0.8 1820
0. 55 1. 5mm 48 59 13.9 740 0.8 1820
1.1 TEH 1. 6mm 45 29 2.9 600 1.7 3150
03 1.4 1. 5mum 44 59 14. 7 820 1.7 3840
0.81 JFHS 1. 6mm 45 29 12.9 600 1.3 2570
0. 88 1. 5mm 44 59 14.7 820 1.3 2440
1.6 TEH 1. 6mm 45 29 15.6 800 1.7 3780
3.5 1.6 1. 5mm 4% 59 22.3 1335 2.8 3780
: 1.3 JFHS 1. 6mm 45 29 15. 6 800 1.7 3445
1.4 1. 5mm 4R 59 22.3 1335 2 3445
2.1 IFH 1. 6mm 45 29 20 975 2.9 4448
W4 2.7 1. 5mm 4N 59 28.9 1780 4.2 5650
1.8 JFHS 1. 6mm 45 29 22.3 975 2.9 4180
2.3 1. 5mm 48 59 26. 7 1780 2.9 4775
3.1 TEH 1. 6mm 45 29 24.5 1070 3.5 5170
5 3.8 1. 5um 4% 59 33. 4 2000 6.5 6270
2.5 JFHS 1. 6mm 45 29 24.5 1070 3.5 4760
3.6 1. 5mum 4% 59 32.5 2000 6.3 6000
7.3 TEH 2. 4mm 48 28 28.9 1660 7.3 10200
5 8.1 2. 2mm 4N 46 44.5 2560 11.3 11300
5.7 JFHS 2. 4mm 48 28 28.9 1660 7.3 9090
7 2. 2mm 4% 46 44.5 2560 10. 1 10600
10 IFH 2. 4mm 48 28 29.8 1910 11.3 10500
8 15 2. 2mm 4% 46 44.5 2890 19. 2 15450
8 JFHS 2. 4mm 48 28 29. 8 1910 11.3 9540
13 2. 2mm 4% 46 49. 8 2890 17.5 13630
WAL | BRRERCKHIE | WR4T TR REMREE 25N HH A HH A AW
A5 in. 1bs. Bl B BE KA R HRB 1bs. 1bs. in. 1bs. 1bs.
4.4 .062” 48 29 2000 100 5 425
JFH %
056 4.4 . 060” N 59 2500 180 5 425
2.7 JFHS .062” 48 29 2000 100 4.5 300
2.7 .060” 4N 59 2000 180 4.5 300
8.7 TFH 062" 47 29 3800 170 10 650
440 8.7 . 060” M 59 4300 275 10 650
5.9 JFHS .062” 45 29 3200 170 8 500
5.9 .060” 4N 59 4700 275 8 500
14 TFH 062" 4 29 3800 180 17 850
639 14 . 060” N 59 4700 300 20 850
11 JFHS .062” 48 29 3500 180 16 775
" 11 . 0607 4% 59 5000 300 16 775
*R 20 IFH 062" 4 29 4800 220 28 1000
| g3 25 . 060” N 59 6800 375 40 1270
16 JFHS .062” 48 29 4500 220 28 940
19 .060” 4N 59 5500 375 28 1130
28 JFH 062" 48 29 5500 270 30 1220
039 32 . 060" ] 59 7500 450 60 1410
24 JFHS .062” 48 29 5500 270 30 1220
28 .060” 4N 59 6800 450 50 1410
69 IFH 093" 4 28 6500 310 65 2300
0420 77 . 088" N 46 9500 575 100 2550
55 JFHS .093” 48 28 6500 310 65 2100
67 . 088” 4% 46 10000 575 100 2550
85 IFH 093" & 28 6500 430 100 2260
0518 130 . 093" N 46 10000 650 175 3475
74 JFHS .093” 48 28 6700 430 100 2260
102 .093” 4N 46 11200 650 175 3120

FYERRZE . 13914003355 (FHeA)
BE5R%: 13511601078 (F4a4)

AR H: 13914002255 (Bhsed)

A M www.szjdph.com




